










Infraexigencia

Autonomía

Engagement

Aburrimiento

Intención de 
abandono





(  = .30, 
p < .01) (  =- .16, 
p < .01)

(  = -.06, p = 
.15).

(  = - .59, 
p < .01) ( = .76, 
p < .01)  = .18, p < .01).

( = .32, p < .01).

( = .76, p< .01).

(  = .06, p= .15),

( = 
.18, p < .01),

-.14 p

p

 p

 p



Infraexigencia

Autonomía

Engagement

Aburrimiento

Intención de 
abandono

= 0.30
p< 0.01

= -0.59
p< 0.01

= 0.76
p< 0.01

= -0.16
p< 0.01

= 0.32
p< 0.01

= 0.18
p< 0.01

= -0.06
p= 0.15

= -0.25
p< 0.01

R2= 0.51

R2= 0.53

R2= 0.68










